EARAROBREBRT —5 XN—ZXBISH—F

20215F981H (K) 10m{cEE3H

A S LA - FHOKLWSAERSRES USR3IBE (s | imEwE - | 09 e
[xE%] 15 :400,000H  23&:120,000H  3#&:64,000H  43%&:32,000H  53&:24,000H
B RS RS R HE B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
RIRRES LR P i gq;,ﬂ 1:30.3 1-1-1-1 | 40.1| - 2 | 484 f’@;% ()
. (=) _ BT
RIRART—LYF— B:ERNY D=5
. )| 75—78—va B3 E“&"’E‘ﬁ 1:(3(;.5 2-2-2-2 | 40.0| - 1 466 tgﬁ{f?s ((52))
. 1 2 SlEEE
R:¥VUSTwik B:4—ZRILAH (-3) AR Eﬁ
it 6 | REEY 1:30.6 3-4-3-3 [39.7| - 9 ERE 2 Cas)
3|80 Fr3 5.0 Gd) o s
RPYES—U 8:9TIWN\vE UNLII—T7—L4
3~ )3 => 4 4 | WO 1:30.8 8-8-6-5 [39.6| — 3 481 | WB&X (£8)
418N /I\_:(///VXj/ o 54.0 m @) | @ PN
RiIvRIVIA B:IAYVI-I v SERUS
o . # 5 G 1:30.8 6-6-5-4 | 39.6| — 8 | 52 |WESBA (EB)
51719 ’\Jl./j')l./lt ~ 56.0 N\F) ) *‘/2';;"/7’-729")(‘/# ()
XR:OY1ZI7—R B:7A45471— T35V R
6 6| 7OF4RY it 4 5%3%0;: 1(:30.)9 11-10-10-10{ 39.0 | — 6 | 481 Eﬁﬂéy (C5))
. 172 =
AX:Bullet Train &:Sh Sh Shakin’ 1 University of Ken
° 4 5 | HKEA 1:31.1 9-9-9-8 [39.6| — 10 | 467 | FEBF (E8)
7Y 3| X4 /Ea” 54.0 1 Bi%6En)
RiIAAVIIR—F— B k=R NTHE o ) ES —s
3,~)3 ' — 4 3 | WUTEE 1:31.2 5-5-7-7 [39.9| - 4 482 | NhB&X (E8)
gl 4| TA¥YYFIN— 5.0 asd W) | LB J PN
R IARIT=IWIF— B:I—-IVI—T)b— SERUS
3 UL 410 | BKTH 1:31.9 10-11-11-11 39.5 | — 11 518 | ZA\BEA (E8)
9|78 | I—ILEN=IL $54.0 @) faHEHEST
RBTSNIYYF— BITSK— QLR =)
10 2| PALY—TUA R 4 5 EE?%OIE?E 1(:32.)1 4-3-4-6 | 41.3| — 5 | 485 %Egﬁﬁ (1£23)
. 3/4 g
RBBRIA TSR BRA YT YT — )| g
nlsls | #7/64=—1 o5 5%62-5(2)@—&5 1:(32).5 7-7-89 |41 — | 7 | 478 %%%éﬁ%)
= i ) ;
RFRRAVIWISY T4 PRE— Rl R
@ 1—F—&RIEL
13—7— 1,2,10,7,4,9,5,11,3,8,6
20—F— 1,2,7,10,4,9,5,11,3,6,8
30—7— 1,2,10,7,9,11,4,5,3,6,8
40—F— 1,2,10,9,11,7,4,3,5,6,8
0 ILRE
BB 1 420 JA R 1-2 2804 e B 1-2 5804 3EE 1-2-10 7,040
B B 1 170/ 1-10 2,420M 5 & 1-2 440 3EH 1-2-10 22,700
2 130 2-10 1,650 B8 1-2 1,170
10 5204

ABIC OV TRUTEREERRODDZE. THRIIZEL.




